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e sin cos tan

44 0.6947 0.7193 0.9657

45 0,7071 0,7071 1,0000

46 0,7193 0,6947 1,0355
@ 1.022 2)6.947 ® 7.071
@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947
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sin 3 10

. BC = 40 x 0.5592 = 22.368 (cm)
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AD+BC=AB+CD B2 5+ x=13+8.. x = 16(cm)




AZteel 25 B Ko 71 2k gk 7 2 32 A=
AA e Ag Tololet
Zte sin cos tan
10° 0,1736 0.9848 0,1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0.7071 1.0000
50° 0,7660 0.6428 1,1918
70° 0.9397 0.3420 2.7475
89° 0.9998 0.0175 57,2900
B7]
@ sin20° © cos35° © sin70°
® cos50° ©® tan70°

Pee 006 06 ®oe Gae

B

@sin 20 ° = 0.3420
Ocos 35° = 0.8192
©sin70° = 0.9397
®cos 50° = 0.6428
@tan 70° = 2.7475

2.7475

ojnZ 7pg Z2 Fe @sin20°, 7Y Z 2 @tan70°
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